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_ (4)
Part A ﬁ
General Mental Abili . e A
ty, Administrative and -
Pﬂﬁ'ﬂhﬂl{}gim] Abilities ua 230585 310&36 Jﬂﬂeﬁ ' 'ﬂaan 'ﬂ'ﬁﬁ S>8as0
1. There are 6 tasks ngaﬁﬁ uﬁﬂ"ﬂésﬁ
S e 1sks and 6 people. Task 1 cannot " S08 Ssen GarLO
assigned either to L. 6 Jyeaden Sofcin 6 00 5=
task 2 must be ass; PN _1 or to person 2; 5o 1 58 18 o S5 28 deponotIRG ]
—— assigned to either person 3 or HD 2 S IDHOm 9 ;5555 o 4 :355,5
skl T L o Seronolsnmd. 198 588 28 DA
; ow many ways can the assi = 0
be done ? el ;ﬁ;ﬁ? @g;ﬁfmaeﬁa S5y O5en
59
1

i (1) 144

(2) 180 o (2) 180

(8) 192 (3) 192

(4) 360 (4) 360
g 40 H0H ®IFIONO 350, @8BS
2. In arow of 40 girls, when Ankitha was shifted el e Yo TN el A58 Jeden e,
to her left by four places, her number from the L5006 DB N5G od e “oms 10
left end of the row becomes 10. What was the 9:98008. ol e@dHeD T8 LoD oD
S50 Bob

pumber of Kanchana from the right end of the OIS STEEd SHnS GO,

row if Kanchana was three places to the right 25 &G& 0TS HODS Joéh ?
of Ankitha's original position ? 1 24
(1} (2) 25
(2) (3) 22
(4)y 23

©(3)
(4)

VFAS (BS 1000 06

3. €n56-19 §H0 o358
aTar t5ed) (0o’ DB LSrotaceod.

g. Vaccination drive for Covid-19 is carried out in g €Ho 33 =0ncsed 35580 D A,
a village of 1000 people. The first person that SHO B D B, 5¢0HO 3 2008
comes for vaccination is placed in Group A, the D CS', SEHd 4 5000 D DS

next two in Group B, the next 3 in Group C, 298050 S8 5 505 lfﬂ“:} ES
up D, and the next 5 In Soc@d, Do E gy 55 JZ0IR
pE, the Sorgh, e 28T YH0,

88 B R

the next 4 in Gro
Group,E. After the 5P member of Grou

pattern repeats, starting from 1 member in axrro  ASD 1 2N Hod
Group A and so on. The last beneficiary to be Sudeysod. e Fohadd DID
vaccinated belongs to BT | 5o SOOI R
(1) Group A (1) Ur2A
(2) Group B (2 roB
(3) GroupC 3) WraC

4) DD

(4) GroupD
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4,

Ramesh said to his danghter, “I am four times
as old as you now. Five years from now, I will
be thrice as old as you.” His daughter asked
him, “Ten years from now, how many times

my age would you be 7"

What would Ramesh’s answer be ?
(1) 2 times

(2) 15 times

(3) 25 times

(4) None of the above

In a badminton tournament between schools A
and B, school A won 50% of the matches
played in the first three weeks. At the end of
the tournament, its success rate was 75%. If 6
matches were played in the first three weeks
and school A won all its matche‘s. played after
that, how many matches did the tournament

have 7
(1) 16
(2) 8
(3 15
(4) 12

The ratio of jobs done by 30 girls to the job
done by 25 boys, in the same time period is
5:6. If 9 girls and 10 boys can finish a job in
40/13 days, then how many girls are required
to complete the job in 6 days ?

(1) 16
(2y 18
3y 12

(4) 14

(5]

3.

D

e B3 Hotehdd, “@0 SoHdN) 2%
QEOE) ety BED )80y, DEF Sov s
SHOHA DEOT Sy CLY GOtN0A." sl
500070 @R BNOE, “9363 Hod HTY
SO L8, T” SO IR BEN GoEn0s 2

Baddd )0 AAFCrS0 Teneth ?
(1) 2

(2) 15

(3) 25

4) DHABS 2O B

A SHBow B, bToe i 2080
arsB106S §G)D0SS Il Swrdh
FooS add SrgSed A 50% 10008,
S0 SwioYS, TR dzoho Héw
75%. SN Jreh To°S 6 Sriden e,

& ST eAS @) SriSosd s A

ROR, 658 D05S’ D) SreSen 2Oow?
(1) 16

2 8
3 15
@ 12

28 50000 30 H0H ®Iroven T
&Oire 28 25 NoO eeryoweny T
GEITO DB 5:6. 9 OO @I 00en

- 200000 10 08 eeryoneD 2.8 DD 40/13
S 8 Fonrdnd. 6 S ko

€ THEVE Jod H0B evdrcwen
@000 ?

(1) 16
(2) 18
(3) 12
4) 14
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10.

11.

12.

The Compound interest on a certain sum for
2 years is ¥ 1,512 and Simple interest is

r 1,440. If the sum is invested such that the
Simple interest is T 2,592 and the number of
ars is equal to the rate of interest per

v

!:mnum. then find the rate ?
1) 5%

(2) 6%

3 7%

(4 8%

You are an officer-in-charge for providing food
facilities to the survivors of a cyclone affected
area. Despite your best possible efforts, people
level allegations against you that you are
making money out of the funds sanctioned for
relief. You would ...
(1) Stop providing the food facilities till the
matter is resolved
Let an enquiry be set up to look into the
matter
Request your senior to appoint some
other person in your place

(2)
(3)

(4) Ignore the allegations

As a citizen, you have some work in (Grama
Sachivalayam and have submitted an
application for the same. The official there
calls you repeatedly and without directly
asking you, sends out feelers for a bribe. You
want to get your work done. You would ...

(1) Send a formal complaint

(2) Give a bribe

(3) Behave as if you have not understood
the feelers and pursue your application
Verbally complain to the higher officials
about the feelers and ask for help®

(4)

* )

10.

11.

12

(3)

D

2 Doss oredy A0 Tndod DT
S8 S8 T 1512 S Foée 56
T 1,440. oo SO 72592 SO
HOSSIT® HOWE D05 ITAE 5G Bendo
HaST0, e BEN Soffdod ?

1) 5%

(2) 6%

@) T%

@) 8%

Sy arad |Derde  [eroéo DO
200D G508 838 Lo O
wofodEdd 28 ad TR ©osd. &
ASHDS (PDohEr e T05H38,
anishdo FHo ozl T AGe
508 &) HOTONT YO (DB B0
Ssadgor efimen Trd. & ..

(1) & DACH0 HBH005DT SE% &
AL O BOHOBR0 BHBW

& i), H82oBT8
DTG 70 TOHATD

5 T30S HFE 5580 AOHOTIDD
H HA0HBS @y

(1) efHeed D08

2.8  DHATRHCOT, K T
HOTOHoS’ Fosd I $0H HOBAW TR
50 .l SO RdjoTd. @58
@OTE Sd) HTHT DewdyPr HdAW
For edidom, oodo FHo dedd
HoJHTydm. w®H D D o
SFoNotHETeRNZ0LNT Y. A ...

(1) ©5HOE QTN SoF

(2) ©oto 3D

3 D& oD oo TEseumr

DSB0D HOAW  H  SSgrY
SSATE =

DeBy KH8od o) dsHed:

Sreod Hovd TFo  av
schhard ® 4 Rafabo 8o

(2)

(4)

e



7.

(6)

Il’l H_ m .
i MMunity of 176 persons, 40 read The
md‘um 5“ I"E-Hd

There are two different ways of going from
city A to city B. There are 3 different ways of
going from city B to city C. There are two
different ways of going from city C that are
not passing through city B.

How many different ways of going from city A
to city C are there ?

(1) 6
(2) 8
(3) 10
4y 12

Meher purchases 3 apples, 7 bananas and
1 lemon for = 286. Rohan buys 4 apples,
5 bananas and 1 lemon for ¥ 245, How much
does Harish pay if he buys 1 apple,
11 bananas and 1 lemon ?

(1) 2345
(2 T 365
(3) T 3B5
(4) 375

9"‘

[D]

175 0d Sier Hoods, 40 Hod &
FOSFE, 60 SH0d modoha Q520
ety Bodh DHH 3O T8 HBH
0eb ?

(1) 125 0ckw 135

(2) 40 000w 85

(3) 25 0Bciw 85

(4) 25 08aiw 40

afido A Hod B Sodd T¥aE Toch
2035 SrTren ey on. SG0o B dhod el
CE JTRs 3 DI rFren aaryow.
o € ol IF)mdE Tod JIdsm
STTEN GBI oW, @ Sido B Moo
o,

8 A 2od DS € 5% D) DS

T R oW ?
(1) 6

(2) 8

(3) 10

(4) 12

F0 3 Airdd), 7 wdeInod HBSW
1 Qoiscidd T 285 % Toerdd., &35
4 drad), 5 @d8Hod  SHbcin
1 QeSO T 245 80 Totrh. 1 aSrde.

11 33500, 1 Asoh Tody 65 Jos
TOTE ?

(1) < 345
(2) %365
(3) ¥ 385
(4) %375
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13.

14.

15.

(2) Reject the quotes and call for fresh
quotes
(3) Refer the matter to the higher
authorities and wait .
| (4) Threaten the medical suppliers about a
possible cancellation of the license
You

{8)

You
@ Edizv:h:ﬂ:‘;mﬂde responsible to procure
a0 areq Bt ha short notice to be used for
_— oo, ¥ a pandemic. On finding the
thit Bhe 1y ne l:r._'r the suppliers, you found
Ee - €5t price quoted ia_appruximaml:.f
more than the approved rate of the
GWEmment. You would ...

(1) Accept the lowest price

are handling a time-bound project.
Suddenly, you meet with an accident. Your
immediate superior insists that you complete
the task. You would ...

(1)

(2)

Stay away from work till you recover.

Suggest an alternate person to your
superior who can handle the project.

(3) Inform your superior of your inability to

finish the project on time,

(4) Request for an extension of deadline.

You have differences of opinion regarding the
project report prepared by your subordinate.
The report has to be submitted immediately.
The subordinate is justifying the information
given in the report. You would ..,

(1)
(2)

Tell him to reconsider the results

Convince the subordinate that he is
wrong

(3) Update and correct the report on your

own

(4) Warn the subordinate not to justify the

incorrect information

1.

14,

15.

(6]

ISNPS NPT A o {0 AR PO EA AT P S PN T P o T T

DR Teh il oo i D RTSIIPS T TNV VIN TSPV : TP

dahio & HEOoGEDE N arddges

Aoyl Adoororden  wEA)  G8&

SRS e, BS Thi o S55 &6

Dehed ol wIrHodads Sen  fot

AV D BEY  DFopS @D Sk

o) . 20 ...

(1)  eoed 58005 585 wofEB I

(2) S5y & A8H0% Hdckh =

§¢5) 50 Denard

& DadirRy a8 adsdHhod

SO0HHGD, JD Srrd

SR, 66 TADBLO ;S0 ©d BS;

PEDT TS BOOT D

D AP oo & Talrdyd DRI

RG5O 0. o, S of

DSrord8 DSair. B D wds8

g}m 8 TOred HEPHssEy &,
& ..

(1) D Feodod S6%H 298 Ardom

SOLT D,

BEP)  ASTOSHS  (DeErSryoh

558N D &) B O JrOI D,

(3)

(4)

(2)

(3) rEf§ Q0ArdE 0 Jahdost H
@dNYS BN D G FOTOS
BOAHTr .

(4) vy g SARYH SWo il
DD,

D $06 ©@HF8 Errododd (=S

SRR D00 ¥ Darydirciren
GO [EF 09 TodT B80T,
400, JIBES DS dSrood)
Sobyron ®H58 D8 . M ...

(1) OTOD HNHOTO0BHD o 12od

@S O8 Tardh

(2) o0 808 ®HTEO $5) ©d @sd)
2.2 )00

(3) 0O Fosor 8 B SHIEBoD,
HOBDE S

(4) )0 DrTTR) DNPoBISD N
s 1806 @dHFOR PG 0T
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16.

17.

18.

There ar : -

numbers ?f' 5]:;“.& 2-digit consecutive odd
] en =

the nine numbers ? what is the mean of all

(1) 73
(2) 63
(3) 65
(4) 61

Latha went to the market to buy some
vegetables. While leaving her house she
checked her wallet and got to know that she
had some hundred-rupee notes and some
twenty-rupee notes. After shopping she had
the same number of hundred-rupee notes as
she originally had twenty-rupee notes and the
game number of twenty-rupee notes as she
originally had hundred-rupee notes. If the
remaining money Was one-third of what she
initially had while stepping out of her house,
find the initial ratio of the pumber of
hundred-rupee notes and twenty-rupee notes.

(1)
(2)

(3)
(4)

Tl
1:7
1:8
8:1

u got the 11th rank and he was
g1st from the bottom of the list of boys passed.

Three boys did not take the examination and
one failed. What is the total strength of the

class ?

(1) 49
(2) 46

(3) 35

Inaclasﬂ,l?.ngh

@) 42

(9]

17.

18.

Sty eHY 203

Srarobe SR ST G oW, DADS
&2y S5 208 Sy08 20DES 3T 35 )E38
e SO &) oS Srdodd a8 Soehd
wond, J0& Erarcde S b0 20
srrabe St Pows WS @802
DAIBD g 5S04,

1. 71:1

2y 1:7

(3 1:8

(4 8:1

L& SEERS,, s 11 07§08 o
5,808 @85 BSES FHODS BLHOVO
pdes OIS DOG 81D oS’
) 0. S0MHE ez )one HBE oroh S
"o o waing 888 Indo How;

D0 ?
(1} 40
(20 46
(3) 36
42

(4)
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19,

20.

21.

124 chﬂfﬂtﬂt&g

' were left when the total

box were divided equally
among 403 students. How many chocolates
Would remain if the chocolates from the same
box distributed
31 students ?

(1) 0

fare equally among

(2) 5
(3)
(4)

124
23

A shopkeeper has three cloth pieces of lengths
7 m, 3 m 85 ¢cm and 12 m 95 cm respectively.
He measures each of the three cloth pieces
with a rod at his disposal and finds that the
length of each cloth piece is an integral
multiple of the length of the rod. What can be
the maximum length of the rod ?

(1) 1m
(2)
(3)

(4)

25 cm
35 cm
42 ¢cm

100 students were to participate in school
games. 60 students participated in game 1,
while 50 students participated in game 2.
10 students did not come on time, so they were:
disqualified. How many students participated

in only one of the games ?

1) 20
(2) 40
@ 70
4) 30

(10)

19.

21.

0},

L& 2RSD Budo &S 403 SO
D iHOE) DSTOONT H0GB0S 124 T3
ey, ©F DHSR TEQ 31 0B
DEFIIOT) DATAOT KodE J) 5D

ofbenaron ?
(1) 0

2 65

(3) 124

(4) 23

28 ornordd ST T M 3 &H
85 250.5 5065w 12 & 95 0.2 FeheY fie

Sk HY Sndieod 508 e, @
35 G @Sy TS Swrd adod
HETAD - Tenarch Loy (P8 o
FBg), ey ools TSy ey G0 QI
Hofo ©d ENfotrd. oof g Mo
by L0 St ?

1 18

(2) 25 0.aD
(3)
(4)

35 0.0
42 20.50

Ard Aoy 100 Hod  dorden
T 108, B 1 S 60 H0d dorytden,
A 2 & 50 H0d dorgden o).
10 508 dshen Sseos TEFIGS
0D 368 I 5806, 28 AHS
ST Do 0O Vorsden S ?

(1) 20
(2) 40
(3) 70
(4) 30
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22.

23.

24,

In a rural market there are two types of

vendors, X and Y. 70 percent of the vendors
are X, and 60% of the X earn ¥ 50,000 or more

in a month. Total number of vendors who earn
z 50,000 or more per month in the rural
market is 48 percent of the total vendors.

What percentage of Y earn less than
T 50,000 ?

(1) 18%
(2) 80%
(3) 20%

(4) 24%

Select the missing numbers from the given
alternatives.
f 17 | 12 | 11

47 | 43 | ?

4 | 5 | 6 |
(1) 55
(2) 49
(3) 53
(4) 46

If we listed all numbers from 100 to 10,000,
how many times would the digit 5 be printed ?

(1) 3980
(2) 3700
(3) 3840
(4) 378

(11)

(@]

22. 2.5 M0 570856 Boch Sses I Eebeny

GOEr® X 5005 Y. 70 7o I(Eden X,
a0 60% X 2.8 Fered' 7 50,000 FHo e

50 D%04 JOTET . (Moo Jr8,58"
S T 50,000 B w®osfody I%5

doardHod Indo JBde Jom; Iwdo
IS0 48 S0, 7 50,000 50T S50y

HOTFHNN) Y 06 €0 ?
(1) 18%
(2) 80%
(3) 20%
(4) 24%

25§03 (DEP5T) OIre DOG )0
DoMWMD Dot OA.

17 |12 | 11
47 | 43 | 7
4 | 5 |6

(1) 55
(2) 49
(3) &3
(4) 46

DK 100 Hod 10,000 IS5 e
NOPIOD Fhe TR, ©0% 5 NG
50| BOTESOE ?

(1) 3980
(2) 3700
(3) 3840
(4) 378



aIn item, He thinks about several

8
to make profyy. Which of the following

= .
ould MaXimize hig profit 7

I
II.

Sell that jtem at 10% profit.

IIJUEE N incorrect weight which is
0 grams less than 1 kg, but is marked
as 1 kg,

Mix 10% impurities in that item and sell
that item at cost price.

I11.

_Increa.se the price by 5%, and use an
Incorrect weight whose real value is 5%
less than what is marked on it.

Select the answer using correct code.
(1) IV only

(2) Ionly

(3) IIonly

(4) III only

Find the wrong term in the given series.
7, 12, 40, 222, 1742, 17390, 208608

1) 7

(2) 12

(3) 40

(4) 1742

27. Excluding stoppages, the speed of a bus is

84 kmph and including stoppages, it is
70 kmph. For how many minutes does the bus
stop per hour ?

26. 2.5

(1) 10 minutes
‘(2) 8 minutes
(3) 15 minutes
(4) 12 minutes

26.

27.

(5]
T>EIS 28 DO SNy

OO KON @S erPo FoOEE
o HSHe HBod sSITM. Sog
3365 DA e erard) oHR0E ?
L a8 38090 10% erdod @00,

I 1 &5 Zo% 100 UT=0en &50dm
&oh, 1 &5'm Hhbodads S8

2% andirfodod.

@ SHS 10% HdTON FDY
S8 @ SR PHY  SES
Aowosod.

B85 5% DO B0 TS e
D WlodadS R 50T 5% &%y)Sm
oo B85 22edely Fadirfodod.

NES  FEY  GHArNod DSrorad)
DothEod.

(1) IV Srehad
(2)  ISres
(8) II&rhah
(4) I Sr|esh

II1.

2D DEVS’ 59 HTV) EHFI0AE.
7,12, 40,222, 1742, 17390, 208608

1) 7

(2) 12

(3) 40

(4) 1742

Faf e AT AN, 2200 Jo 84 8.
N0 FIFOS O 28 70 & 20,2080

080 D), DFeD esthyesonA 2
(1) 10 dadaren

(2) 8 Qadarewn

(3) 15 Qnaren

(4) 12 Qdbarew
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28,

29.

30.

Consider the following pattern of numbers :
2+4+6=14
12+ 7+3=22
17+5+8=18
G+T+1=4#%
Which number will come in place of the # ?
(1) 17

(2) 16
(3) 10
(4) 11

A child made a big cube by joining 64 smaller
red cubes. He then painted the faces of the big
cube in yellow colour, except one face. His
teacher came and dismantled all the cubes
and asked him to count the number of cubes
whose two faces are yellow. If the child
answered correctly, then how many cubes did

he count ?

(1) 4

(2y 16

(3) 20

(4) 8

In a school sports competition, 40% students
participatﬂd in  shooting, 35% students
participate_d :n  wrestling, 32% students
participat&d in boxing, 9%  students
partiﬂipate.d in shooting and wrestling, 11%
students participatEd-in hoxing and wrestling,

g students participated in shooting and

hoxing and 5% students parl;icipﬂted in all the
udents did not participate

in any Sport, then find the total number of

students in the school.
(1) 450
(2) , 350

(3) 500
(4) 400

(13)

28. 808 DOWEE AHeNIATARD HBHeS00s

29.

30.

2+4+6=14
12 +7+3 =22
17+5+8=18
G+ T+1=#
# S0 O Hows SROB 7
(17
(2) 16
(3) 10
(4 11
2.& Sheardy 64 B D) SN PTALSINY

coid0 T 5T DO STy Sasrdd BT
i of Swpo DIF D 807585
F0areed DY S0t DPoTrd. S
K SO, ©) SrsBOD DesH, Do
Sopren DRy Sond &) ST
Homiy BEHOBHI OB, DRTW
HBMP HAFTR0 2O ISQONS, ©SD DY
SrgeSedn 8550 ey ?

(1) 4

(2) 16

(3 20

(4) 8

sozeo §o S8, 40% dorien Hreoh
S F ST, 35% Hod JorsPen BEoh
S S, 32% 00 IoriPen arsyeh
S T, 9% driden  dredoh
8%y BZoRS FFM, 11% Hod
Nrgen  wr8yof ook BZoRS
S8, 8% dersden Are3oli OO
278 30RS" T B 5% Dersen
ST Lgé'f-:'fj& I, 64 OO
aorsen BT §dos  FTIEHE,

FEToS DS e o
LOTS0B. DO Sops.
(1) 450
(2) 850
(3) 500
(4) 400
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31. The calendar for the year 2009 will be the

32.

same for the year :
(1) 2014
(2) 2013
(3) 2012
(4) 2016

What can be the maximum sum of Saturdays
and Sundays in a normal year 7
(1) 104
(2) 105
3) 106
(4) 107

If in a particular non-leap year, the month of
June had 5 Mondays, then that year must
have started with which one of the following
days ?

(1) Thursday or Friday

(2) Friday or Wednesday

(3) Thursday or Saturday

(4) None of the above

How many pairs of positive integers m, N
satisfy the following equation :
1 4 1

—_— — ==,
m =n 12

where n is an odd integer less than 60 ?
A1) 3

(2) 6

(3) 4

4y 7

If x = — 0-5, then which of the following has
the smallest value 7

(1)
@ 2
X

@ =

(14}

31.

(4)

(D]
a H0DOHOLN S lele 14
otnoh :

2009 D050
5 $05830°V8 2,8 DGO o
(1) 2014

(2) 2013

(3) 2012

(4) 2016

Ao 4056508
sBFOO (05 IS0 Do ?

(1) 104

(2) 105

(3) 106

(4 107

283 HHTHSS 50583505, za:%S 'iﬂf
5 &FHaoren aoty, € oS00
S$:500™ 806 S8S D T (oS

aomd ?

1) Hado Bor Hirdo
@ HEFE0 B wETE0
@) H&aso Bor 00
(4) a3 S

) BHO Gared¥ oSt m, n gob

HENESET), DOSYadGRTow :
1 4 _ 1

=

35  nbcw

m o 12’
2% n ©FE 60 S0 S¥oyd B yrgroso ?
(1) 3
@ 6

-(3) 4

(4) 7T

x = - 05 ®owd, §08 T¢3S° DO OS5
Nenssedy R Gotnod ?

)
@ 1
x

(3)

(4)
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36.

37,

38,

Two liquids A and B are in the ratio 5 : 1 in
container 1 and 1: 3 in container 2. In what

ratio should the contents of the two containers

be mixed so as to obtain a mixture of A and B

" intheratio2:17?

1 2:3
(2) 4:3
(3r 3:2
(4 5:2

There are 6 members A, B, C, D, E and F in a
family who are spread across 3 generations.
There are two couples in the family and no one
from the third generation is married. E is the
wife of C. F and B are a couple and the only
people belonging to their generation. There
are 4 male members in the family.

Which of the following must be true ?

(1) D is the grandson of A.
(2) A and E belong to the same generation.
(3) There is no female in the third

generation.

(4) E is the father of F.

Let N be the greatest number that will divide
6360, 7420 and 9540, leaving the same

remainder in each case. Then the sum of the
digits of N is :

(1 7

2) 5
(3) 6
4) 8

{15)

36.

37.

38.

D

A 50050 B eoF Boch (Baren 0B85 1 5
6:1 B Z0wdd 26 1:3 DHAS
GOtron. 2:1 JH3MWS A HBGH B
DFAT), PoBothdy Bod 50Bdbed'd

S0D0HON o) DS Eerard) 7
(1) 2:3
(2) 4:3
3 3:2
(4) 5:2

Srd SToS INB0D &) Hoeno20s
6 H0O Hhgew A, B, C, D, E Hdow F
&y 8. Soen020S BB 208D G &
SHBOR) hed B0 ADOGB JIET DTT"0
DEBN. C, E GdoEyerds. F SHdoin B
206 HOAD FO STV TodS I8
Se8ven. Hewo20sS 4 Hod Hhen
&) L.

806 &3S O Do ?
(1) DeoF6 A B 855

(2) ADSAWE 8 008 ToAXD.
(3) e S0 |H T,
(4) E,F 3wg) So|d.

6360, 7420 HOAM 95400 2rfoT D)

DOPS N eow FOBAS508,  (HD
ROBEI0SEr @F A FO0. ©H) N
& ®o3e BWLTE

(1) 7

(2) 5

(3) 6

4) 8
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39, What

4ﬂi

41.

[16])

1S the number of triangles
given below ?

in the figure

13

15
14
16

(1)

(2)
(3)
(4)

The circumference of the front wheel of a cart
i< 30 feet and that of the back wheel is 36 feet.
What is the distance travelled by the cart,
when the front wheel has done five more

revolutions than the rear wheel ?

(1) 850 feet
(2) 800 feet
(3) 720 feet
(4) 900 feet

Ramesh wants to plant 372 tomato plants,
558 chilli plants and 1116 onion plants in
equal rows. Also, he wants to make distinct
rows of each plant, i.e. every row should have
only one kind of plant. What are the minimum

number of rows that are required ?

(1y 8

(2) 11
(3) 14
(4) 16

39.

41.

[

8o 258 oS 1B dopyg

05 ?

13
15
14
16

(1)
(2)
(3)
(4)

208 Svoch BEo epTerd 30 ecben
000y S8 SFo 36 WM. S0C
SEo JIE Aso 08 20 J50ke
(Sderen DRI, DOG |Hoiredodas
SFr80 Jodh ?

(1) 850 exdiben

(2)
(3)
(4)

800 eadiofoen
720 eachitden
900 eoBoMen

GHD 372 esrer JIwEien, 558 oD
Fwgyen, 1116 O Ik en HSrS SGHS’
TEFORNTT) . @er, @ 156 sy
g, DSy SHHned Saird
DOTOEI0ENT®Y . WO, (DB SHHS’
2.8 O5DS Fwfen Somd. eIHES

el 5B EAD Do DDwesd ?
(1) 8 '

@ 1

@ 14

(4) 16
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42, The total number of integers between 400 and

600. each of which, either begins with 5 or
ends with 5 but not both, is

(1) 10
(2y 100
(3) 110
4) 120

A shopkeeper is selling his goods at 40%
discount, but is still able to make 20% profit
on the list price. By what percentage does he
mark up his goods ?

(1) 60%
(2)
(3)

(4)

405
80%
100%

Anand and Rishi are the two biggest
competitors of chess. The probability of Rishi
losing a game against Anand is 75%. What is
the probability that Anand loses at least one
out of the four games played between them ?

(1) 81
256
@ 3
4
@ 1
9
175

4) —
256

{17)

42.

43.

(o]

400 SnO0aiy 600 S0d; Gy Bwesdo
FrFose oomg, 23S |HB 2,468 58
EFS085:5008 Sor 58 Suhaod 5H
Sodr 57,

(1) 10
(2)
(3)
(4)

100
110
120

2,8 OTErrdd® S Srldod  40%
SAoHE DEonWa) o, wonT ¥H)ess
20% erdSo  Srodiedd. @éd

| 3090 d0S TS0’ Srby T ?

(1) 60%
(2)
3

(4)

40%
80%
100%

@508 NN A TRS AGH Y
e, 83088 2OAS IriSS' 8
LAFTH wI5F0 T5%. O NS eBS
Tl Ao’ 8808 §900 2.8 S
LA D HozFSges DDl ?

81

(1) e

e | G

(2)

(3)

=

175

4 .
% 256
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(18)

®)

406, - . »
A tank has eight pipes, some of which fill the | 45, 28 ersols IO IO GOLTay,

tank and the rest.empty the tank. Each inlet
pipe fills the tank in 8 hours while each outlet
pipe empties it in 6 hours. If all the pipes are
kept open when the tank is full, it takes
6 hours to drain the tank. How many pipes are
inlet pipes ?

(1) Two

(2) Three

(3) Four

(4) Five

48. Ajeet and Sujeet go for shopping in a mall.

They use an escalator to move between | 48.

various floors. The escalator moves at a
constant speed. Ajeet takes nine steps for
every five of Sujeet’s steps. Ajeet takes
30 steps to reach the top of the escalator,

while Sujeet takes 20 steps to reach the top. If
the escalator was turned off, how many steps

would they have to take to walk up ?
(1) 40 steps
(2) 50 steps
(3) 60 steps
(4) B0 steps
47. A beats B by 15 seconds in a 200 m race, B
beats C by 25 seconds in a 500 m race, C beats
D by 32 seconds in an 800 m race and D beats

E by 35 seconds in a 1 km race. What must be
the speed of A in order to beat E by 800 m in a

2 km race ?
(1) 2-5m/fs
(2) 333m/fs
(3) 5m/s
(4) 666 m/s

47.

FBS Ty erso5 QOB Dbay,
wADSD  ergoSy w9 TTON. uf
2SS 20 ers08Sah 8 ﬁomﬁ oof,
2.8 ©HSBS R 6 oS @) ard
Fod. ersos NoBERIE B BB
260 Godsond, ¢r508 &Y (Bons)
Sohrds 6 floten H0H. I
D D), PPN ?

(1) Do

(2)  Sardd

(3) renib

(4) 9D

wd8 S0 S 8 3rSS ok
FHaDs Iverdd. oW DD ®oshae
255 SEOTRE BB GBATNT .
BB VDS Fos  Fchendod.
2ES Fh 158 o edibhol 028 S0
wiothen S, @3S IO B0 DS
FHOEITOE 30 echiben Jrdd, ©oNsS
2ES DE BHESEDE 20 exciben Jard.
IBHE oD Johudd, oH 8
SESETD8 D) eiHen Sord ?

(1) 40 edifhen ;

(2) 50 eofhen

(3) 60 eDHe

(4) 80 edhihen

200 S8 BS A, 15 ESS BI,
500 2exd Bane’ B, 25 DESS €D, 800 m
dnd C, 32 DESS' DD, 1 km o D,
35 2ES S’ EQ LA0%. 2 km Bind
ED 800 et s Lbooroot A G5
30 0 GoEd ?

(1) 25

(2) 3330/

(3) 50

(4) 666 0D
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48. 5 persons will live in a tent. If each person

49.

requires 16 m? of floor area and 100 m? space
for air, then the height of the cone of smallest

size to accommodate these persons would be

(1) 1875 m

(2} 16m

(3} 1025 m

(4)  None of the above

A5 x5 x5 cube is formed using 1 x 1 x 1
cubes, If we add another layer of such 1x1x1
cubes in the 5 x 5 x 5 cube, then what will be
the number of 1 x 1 x 1 cubes in the newly
formed cube ?

(1) 216
2y 130
(3) 175
(4) 264

A change-making machine contains one-rupee,
two-rupee and five-rupee coins. The total

number of coins is 300. The amount is ¥ 960. |

If the number of one-rupee coins and

two-rupee coins are interchanged, the value|

comes down by 7 40, The total number of

five-rupee coins is

(1) 100
(2) 140
(3) 60

(4). 150

(19)

50.

18. 28 HEBoeS 5 VST mémﬁ“ﬁ: ,L_,:.a 55§§

16 02 $#6 DB B0 100 B rd T30
WO0 @508, & Aot S5
SO ou s we D) :J&é-rmueﬁ-f‘ S
€0 aieh) 20 ?

(1) 1875 &0
(2) 16.eD

(3) 1025 2o
(4) 250 &%)

1x1x 187500 SOHTBIHOD 5 x 5 <5
57525 DOSIERB0E., 0 5 x 5 x 5 5SS
e@ens0d3 1. x 1.x 1 e Slndr 0%
P58 EB 0, ©H)th TS 8 1AS §riSS’
1::1:-:1@3?{:@:}5;}:&0&‘?

(1) 216
@ 150
(8) 175
(4) 264

D6 TR obolgod a8 Sraron, Bodk
drarcdhe Hbcdiy &% Srarcahe m“ﬁﬂh

| &Dé:i"ﬂ.‘ﬁ Em@c: B Jow 300, Ih}éég

T 960. 2.8 mom aﬁ*ﬁe’;ﬂ e“:a:nﬂcrm Boo

 Srrobe  wdo RS LTI IN u}f}‘-’ﬁ"'fjl:]

SO IN0T, Dend T 40 oFHSod ., ST Te]

DD Srrohe THO Sow;
(1) 100

(2) 140

(3) 60

(4) 150



562.

If P is true, then Q must be true.
I IfQis true, then R must be true.

1. If S is true, then either Q is false or R is
false.

Which of the following must be true ?
(1) IfPis true, then S is false |
{Ell If S is false, then Q must be true
(3) IfQis true, then P must be true

(4) IfRis true, then Q must be true

A decorative lamp has 2 brown, 3 green and
4 white bulbs. What is the probability of
lighting three bulbs such that at least one
bulb that glows is white ?

37
(1 —
} 42
23
2 St
(2) 33
45
3 ot
(3) 47
29

4
(4) 33

(4)

)

51, P,Q R 0050 S e3 Treni RETDoSey,

& TS e 5638 D000 (808 Ddom
Gotnod :

I P Rad8, Q £5)000mr J20 ey
aod);

IL Q Az, R $5)A80™ =0 ey
aomé).

1L 8238, Q $)) B R ©oT0 &),

808 &3S’ 2B Do won GoEd ?
(1) PA2DSE, S &3y

(2) | S éy) wond, Q &% daz2o
(3) Q i}a@a‘, P &5)38 dzo

(4) RA2DS, Q40538 d=o

a8 ®Oosd d%o 2 M, 3 &5053)
00 4 Bews) Ve)O® O dotnod.
IO 28 wew) Bor IDFer Sard
DONOD IOAOT HozTSses DMWes ?

37
;R
@ &
2) 28

38

@ 45
47

29
33
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53.

In a college, 25% students play football. A

student who does not play football, plays

cricket. Every cricket player wears a cap.

Which of the following conclusions cannot be

made from the above data ?
I. 25% of the students do not wear caps.
II.  No encketer plays foothall.

Select the correct answer using the code given
below :

(1)  Tonly

(2) Ilonly

(3 BothIand Il
{4}  Neither I nor II

The total number of students in a class is 400.
The ratio of number of students who like Arts
and the ones who like Science is 3 : 5. The
number of students who like Science is more

than the ones who like Arts by how much ?

(1) 140
(2) 100
(3 180
(4) 16

{ 21 )

5.

(0]

2,8 Braexdy, 26% 08 Deriden HSerS
escerT . HOLS B8dd Dol (8365
eacsECh, (D6 (8365 DaAHB 5% SOT .

2 @ér &od 8od FES D BoyEren
Fohdamw ?

[ 25% 00 ATrshen &'hen $ootd.
I 98306 HSwS ek, |

ABS adyd T8 addrfiod OB

BIFTATR), JOTHTOA :
(1) 187edad
2 Iares
(3) 1005 II Bodr
I s7ch, II 5°¢

(4)
2% 5508 3o dorghe Jogy 400.
ey 2ANE HoO RSN 2T
Aersther Hopg AAYB 3 : 5. o aYIHT
T8 50% DO @IB TP DoP;
o)0ed ?

(1) - 140
(2) = 100
(3) 180
(4) 18

55. English alphabets A to Z are numbered with iE
the first 26 consecutive prime numbers.
If PQR = 519 and UVW = 705, then what is
JKL equal to ?

(1)
(2}
(3)
| (4)

915
129
201

97

@oll SdSreen A DOd Z S5% Tl
26 SR DTS dopied B oz ov.

PQR = 519 SBckw UVW = 705 eond, JKL
@0t B8 Jirdo ?

(1) 915
(2) 129
(3) 291
(4) 97
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56. Pranav sold two books at the same price. On | gg, (2EDad

one book he made a profit of 10% while on the
other, he incurred a loss of 10%.

In this case, which of the following statements
is correct ?

(1) He makes no profit or loss
(2) He suffers a loss of 1%
(3) He makes a profit of 1%
(4) He suffers a loss of 2%

57. In the following question, select the number
which can replace the question mark (?) from

the given alternatives :

3 | 14
9 /216133y 3
15\7 %/ 9

28 | 4

(1) 2197
(2) 343
(3) 2144
(4) 1231

58. Kranthi is facing west. She then turns
45 degrees in the clockwise direction and then

another 180 degrees in the same direction and
then 270 degrees in the anti-clockwise
direction. Which direction is she facing
now ?

(1) South

(2) North-west

(3) West

{4) South-west

(22)

67.

58.

(0]

Bodk HITed a8 Q8%

ek, 2.8 HEoS wdd 10% erso
0% cSm EFaSTe.

&5 HBHE IO ?

JSono
Focre, HTITIR 1

& 506808 8obs ¢
b D8 ergio B SO GOCHED

5 1% SR, HILTFED
e9eded) 1% &0 SrotHTLR
enehesd 2% SR HDOTACE

(1)
(2)
(3)
(4)

808 1D%)S, ©F) DR @) & Godihe

Howmy /OO |HEsgadr) cio PuiTele
Jochsod :

3|14

9 f16liasn 3

15 7 125 &

28 | 4
(1) 2197
(2) 343
(3) 2144
(4) 1231

(5708 DS SVPOT S0, B JSsOFS
45 G|fien SO ©F HIS® HE 180 S|fiew
e  SB0E  DIOFIS 270 Afiew
AFESI0H. DY) &30 ) BF0)S oD ?

(1) &8e

(2)  arcinedg
(3) DI
4) BHS



90 seconds in an hour anpg .
A watch loses . : the | gg. 2 2158 ESHB08
5% tch owner adjusts the time lost by ¢he TS HoS 90 RES y

watch in one day at the end of 48 hours, After 00 5 ohBITR 48 ot f.‘:.:ljﬁ{j@ese
how many days will the watch show ghe 28 B o8 FSHond :amoﬁmg,
correct time before the watch owner oerey DU, O CLBITR AeDCITR)

the time ? el HBeren ToHEAE Swoth ) Fere
(1) 80 days S0 168 TS DDA DDA, L) ?
(2) 40 days (1) 80 8zren

(3) 60days | (2) 40 Seen

4) None of the above (3) 60 Baren

(4) B D
g0. The figure below shows the opened-up vergion

of a cube with dots on each face : 80, &S %) 19 PO tHEOS Frdad

Sr5e5 BEY LDV-09D BYD BAryeod -
a
. 0 o |l e @
: : L . ..» ole @
* »
" . @& L] L
» = r & :
L 5 L L a L
Which of these cubes (I and II) show the - :
correct position of the dots ? ;%E:Zi ;;? gﬁﬂﬂcﬂin II) So¥e BB
)0 ?
. I
IL IL

Select the correct answer using the code given

OMS 2Dy 82

below : DIETETRY dothEos :Mﬁh«ﬁm‘:} DB
(1) TIonly 1) I3rs3%

(2) IIonly ) IS .

(3) BothIand Il @) 10805 I Boggy

(4) Neither I nor II 4) 1811 sesy
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( 24 )
Part B (i)
Science and Technology
61. A joint programme of DRDO and ISRO, g

developed highly potent Anti-Satellite
Weapons (ASAT) under Mission Shakti.

1. ASAT is a missile-based system to
attack moving satellites.

II. India, using ASAT Missile, destroyed a
live satellite in Low Earth Orbit.

111. ASAT missile is capable of shooting
down targets moving at a speed of 50 km
per second at an altitude as high as

2000 km.
Which of the statements regarding ASAT are
true ? -
(1) IandIlonly
(2) 1and III only
(3) I,1IandIIl
(4) II and III only

62. Which of the following events has delayed the

commissioning of the Kudankulam Nuclear
Power Plant ?

I.  Disintegration of the USSR

II. India’s economic crisis of 1991

III. Protests by Civil Society

Select the correct answer from below :

(1) Il n_n!}'

(2) 1only

(3) I, Il and lII

(4) 1and III only

62.

0 B ()
2.8 $H80ww BOF

DRDO S0Bas» ISRO Hoosnd SONEN0,
pas 48 8od eneb O

Srol TBBS BHS) (ASAT) PREARRIA

Do2G06. ._,
[ ASAT ®3& As adliTron b
Schardt 858 erdsd HEID.

aresEido ASAT 25630 GOSrHoD
BBy & 2 oSt Ee0enddd)

SO TS0 TRob.

[II. ASAT §5¢3 2000 8 S DEDHY
50 &85 Sod Shendd) OFIOD

Srd yaohiied.
ASATE 50208008 DSDoSes’ I8
HBED ?
(1) 15005 I Srehad
(2) 1586050 I S
(3) I, II08ak 1.
(4) 11508050 I Sr|eah

I1.

806 TES D DL SO FodSoRTo
®En NS FoSd  |Ddododdod
g0 20A0h ?

I. USSR Qa0

CIL 1991 5763 r ST edE Hos o

L 28 HIFR0 & 50> DEDSe

&6 DOG ABH QAFT TR JocHFod :
{i:n 111 53¢ 3

(2) T e

(3) 1,11 58050 III

4)  T0008m I S
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g3 With reference to 8 mega project pertaining to

Nuclear Fusion research that is being built i
in
Sputhern France, International
Thermonuclear Experimental Reactor (ITER
consider the following statements : A
1. It was designed to demonstrate the

scientific and technological feasibili
fusion power for peafefil:l uﬂ:‘fﬂﬂ:h:ht}' of

1I. Institute of Plasma Res
_ : h (IPR)
Gandhinagar is the Nodal s 1
roject ITER. agency for the
I11. ADE[TYA is a medium size Tokamak
fusmn_ reactor installed at IPR
Gandhinagar as part of ITER. l
IV. jlE::LU, .Iudia,d{'}]::;na, Japan, South Korea
ussia an S are the :
ey members of
Which of the statements given above are

correct ?

(1) IandIIonly

(2) 1I and IIT only
(3) I IlandIIl only
(4) I ILIII and IV

with reference to “Blockchain Technology”,

consider the following statements |
blic ledger that everyone can

[ Itisapu
ger controls.

inspect, but no single u
and design of blockchain

11, The structure
it are about

;s such that all the data in
crjrpt.ucurrEncy only.
at depend oOn basic

IIL. Applications th
chain can be developed

features of block

thout Em:,rhnd}r’s permissinn.
h of the gtatements given above is/are

Whic
correct 7

(1 1 only

2 1 and IT only

(3) 1II only

(25 )

(4) Iand 111 only

63, 068058 GBIOTSE
; 55 e 6202

Basrsd (ITER), AT 52, f
gag 8 O 28 L I
magmﬁamé‘o& ol HEOSOD
488008

@50 SFEBES

[ 7o OO0,

556 a308% F| QOD
oSl AL La‘:rf:ﬁﬂn;m:ﬁa'aﬂ

&ysrolo Safob.
@D T 6206 (IPR),

I1. 207
- robSid 2§, ITER Sns Sod

DB
& arfiorr mrobSHd

111 sbS; &30 ITER
S°% [PRS” DT )0 HHzdd anBADO

250 E5°5°5°5 grsad 6airgd.

V. EU, 2r880%0, =, myS, O
eBosr, dars oo US ITERS 2§
Saen.

2 a0 DEDoSOS' 2D 58597

(1) 15000 Il ST ehad

(2) T80 III Sredad

(3) 1,11 56050 III ST

(4) 1,11, III 8aw IV '

“rEBons BEeE” § HooHow lela)

BSE{AINISIN HBSotod

1 b 1He .50 39 Sohkie HAE
B8, sR oy VT
Jaole3ouid.

I 2rE3one ) Q0"2E0 D
Srogo)d TS Indo Fer
885888 Ho20H0DVIS Sr|shH

IIL 2§ 3Zons 8y [rdsS :;-55;.-@_;3;.
SEEHAS BVEASOH SO e

éﬁﬁaowﬁ ©DIHE Tahasth) o

DS AW NS '

SBSBIOBSD ? RESRSNG 8

(1) 13redsd

(2) T80 IT e

(3) I Sr(had

@ 130aiw I Sries
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65.

67.

(3)

(4) e-PRAGATI has been aimed at starting

In India 3D-Printed Cornea and 3D-Printed |gs5.

Liver Tissue were developed respectively by
(1) Aravind Eye Hospital and Panacea

Biotee Ltd

(2)  L.V. Prasad Eye Institute and Biocon
Limited

(3) LV. Prasad Eye Institute and
Pandorum Technologies

(4)  Centre for Sight and SIRO Clinpharm

In the reduced or microgravity of Space, the|gg,

astronauts’ faces become red and bloated due
to the blood and cerebrospinal fluid shifting
towards the head causing them to have round,
puffy faces and thinner legs. This phenomenon

is known as
(1) Debye-Falkenhagen Effect

(2) De Hass-Van Alphen Effect
(3) Aharonov-Bohm Effect
(4) Ct_tarlie Brown Effect

Identify the incorrect statement about the

e-Governance programmes in India.

(1) DARPAN is an online tool that can be
used to monitor and analyse the
implementation of critical projects of the
State.

(2) KHAJANE is an e-Governance project

for the computerized delivery of land

records to farmers of Karnataka.

Jeevan Pramaan is an Aadhaar-based

Biometric Authentication System for

pensioners.

a culture of pro-active governance and

timely implementation.

{26)
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68.

70.

«Cheetahs have been reintroduced in Indig”
Which of the following connected to the above
statement are correct 7

L.

II.

I11.

V.

V.

(1)
(2)
(3)
(4)

Cheetahs will help in the restoration of
open forest and grassland system,
Project Cheetah is the world’s first
inter-continental large wild carnivore
translocation project.

Qut of 8 Namibian wild Cheetahs
reintroduced into Kuno National Park,
5 are male and 3 are female,

The Cheetahs indigenous to India that
went extinct, are African Cheetahs.
Author of “The End of a Trail - The
Cheetah in India” is Divyabhanusinh,

I, III and IV

I, II and IV

[ITand V

LILLIVand V

A fermentation process that uses ultrasound
to safely generate Xylitol from Sugarcane
bagasse is created by

(1)
(2)

(3)

(4)

Identify the

Indian Institute of Technology, Delhi
Indian Institute of Sugarcane Research,
Lucknow

Sugarcane
Coimbatore |
Indian Institute of Technu!ug}', Guwahati

incorrect statement about

Breeding Institute,

Hydrogen Fuel Cell Bus developed in India :

k

II.

I

(1)

(2)
(3)
(4)

India’s first indigenously developed
Hydrogen Fuel Cell Bus was developed

by Veera Vahana Company-

employed :
ill combine

n-powered Bus+ wi
gyyddrruﬂizn I;?l: Carbon dioxide to create

in the

electricity.
drogen-powered
t from the hydrc
';1:1: ;T:r:;zr and heat . nstead of smoke.
I and III
11 and I1I
I and II

All of the above

127)
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71.

72.

Consider the following statements regarding
India’s Anti-Satellite Missile test :

I. The test successfully destroyed a live
satellite in Low Earth Orbit.

II. The test was done in the upper
atmosphere to ensure that there is no

space debnis.

India is the fourth country in the world

I11.
to have this kind of missile system.

Which of the statements given above is/are
correct ?

(1) IandIlonly

(2) IIonly

(3) I and III only

(4) II and III only

Recently, NITI Aayog approved a proposal to
conduct a study on the use of facial recognition

technology in India. In the context of facial
recognition technology, consider the following

statements :

I. A National  Automated
Recognition System (NAFRS) is being
developed by the National Informatics
Centre, under the Ministry of
Electronics and Information Technology.

Facial

The biggest demerit of facial recognition
technology is its limitation in identifying
people in real-time and not in photos

and videos.

II.

Which of the statements given above is/are

correct ?

(1) Ionly

(2) IIonly

(3) BothIandlII

(4) Neither I nor II

(28]

71.

72,

(0]

rEsSio Ging, oot THIE Sim
488%)  Howobod 15060 1H5050

2068 eHoes i

L 268 duohsosor & 20 685

|ebs s ¢y fiedted ), 450 TIraoh,

wods TN FHEI00T GOGLTIE

: o FEHE0S 164 2HACE.
I (Hoocod & 5D E558 SS9
LD &Sy 7S TH0 2 e840
B BN LSpoSos” 26

HBSOIDDED?

(1) Iendaln IT Sy b
(2) 1 ST(Esad

(3) Ia06ain III ST|ed
(4) IIs0ocin I S7|esa

srosGiosS Dhohd BEAIAS BTyod
DG ©BieHS0 T (DS
2o 53 weirf eIrdo 3OO0k,
5500 88M NS BEed Dachods, &
208 DEDoSesd HOHEIOL0E :

L QoFAE) Sddin 238128 Bsod

So@ss TH 6di6508V Jass
235)8:835) Dowd oo TasS
SSHDHE DAcHS B8FH1AS P
(NAFRS) 9590 SahachS8od.

I HHoHS OEMAS Dsyed S
B DS SH0 IWEHOD, FSen DO
Hasired sHhom 2 ddovod

S5e50& H8oBSB0S o HOWS.
S 2SS WSDoSos 20
BSO8R ?
(1) I
(2) I Sr|edad
(3)  I60% II Bockr
(4) Is¢olIlseo
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74

4.

Consider

the following statements regardip
B

EgaM ars :

II.

[t rover will be the first mission to

combine the capability to move acrg
088

the surface and to study Mars at depth

ExoMars is a joint programme of th
e

European Space Agency (ESA) and the

Russian Space Agency — Roscosmos

Which of the statements given above isfare

correct 7

(1) lonly

(2) Il only

(3) BothIandII
(4) Neither I norII

Consider the following statements regarding
Fast Breeder Reactors : :

L.

I1.

I1I.

Which of the std

Fast Breeder Reactors are designed to
breed more fuel than they consuime.
undergoes

fission to produce energy, while the
present in the fuel

tional Plutnnium—ﬂﬁﬂ.

In this reactor, Plutonium-239

Uranium-238
transmutes t0 addi
It is a part of stage 1 of India’s Nuclear
power programme.

tements given above is/are

correct ?

(1) Tonly

(2) IandIl only
3y 1land 111 only
(4) L1I and 111

(29)
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75. Consider the following statements about|75. 20&8) 2SS SISO «ga;ﬁ;ii- G
International Nitrogen Initiative (INI}: 8o 808 Lﬁgﬂéﬂm#i;;zﬁj E;[ﬁ_-? s
I. It is set up under sponsorship of the . @b aﬂ‘ﬁfﬁ;ﬂ ;,_-, mé*%a 5 205
Scientific Committee on Problems of the goned (&Fy) < (UNEP)
Environment (SCOPE) and United ﬂ.ﬁ_‘;ﬂ"ﬁﬁﬂﬂﬁ toyley %
Nations  Environment  Programme ;ﬂ*ﬁﬁ;ﬁﬁlglé‘ D FoHa o
(UNEP). L Bams aits 68228 Slesed GInS
II.  Its key objective is to optimize nitrogen’s @ﬂraéﬁﬁ@é (5D ez
beneficial role in sustainable food Habcso B Sows 850
production. =3 2D fgﬁﬁ;geﬁﬂé‘ I
Which of the statements given above is/are :_ 3 SBISD 307
GracEs (1) 157D
(1) Ionly @ 355'@533
. 3) TSH008 I BOE™
(3) Both I and II & IE‘dﬁﬂE‘Cﬁ}
(4) Neither I nor I
76, S350 606D 503207750 (€SI
76. Consider the  following statements anhdheds 0 eosr  (NDCTIA) §
regarding the Nationally Determined Ho20500 o ?gejﬂjﬂfﬁﬂrﬁ)
Contributions Transport Initiative for Asia HBBoS0b :
(NDCTIA) : I @b adhoss oSty QT - 1~ ae]
I. It is an ASEAN initiative that aims to |* Soerdy a8 SdHrer R e AT
facilitate a paradigm shift to zero Dedsso Tobdo ©F sormr EPSO)
emission transport across Asia. ASEAN <S55
[I. The Indian component of the initiative is L 26 s Sso S & o S st
implemented by the Ministry of Sohe SHoBSs T P
Environment, Forest and Climate
Change in - partnership with the DT, @t O TES0R
Ministry of Road Transport and SIE)O 0B T NS08
Highways. @) TODDRSOH.
Which of the statements given above is/are 20 p=TARTN VS DoSeres s
correct 7 DD S DBSD ?
(1) Tonly 1) 135S
(2) IIonly (2) 11 Méﬁ)
(3) BothIandlII (3)  Tso8ciw II Sodhr
4)  Ised s

(4) Neither I nor II
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Consider the following statements regarding

the Iﬂdlﬂ-ﬂ- RETIEWﬂh]'E EHETE}' DﬂVElemEnt

Agency Limited (IREDA) :

Enterprise of

. It jis a Navratna

Government of India.

1 aims to give financial support to
schemes  for electricity
through new and renewable sources and

energy through energy

gener ating

cONServing
efficiency.
m. It works directly. under the
administrative control of the Ministry of

New and Renewable Energy (MNRE).
Which of the statements given above isfare
correct 7
(1) Ionly

(2) 1l and III only

(3) 1l only

(4) I,IIandIII

The Renewables Integration in India 2021
:ch of the following

report was launched by W

institutions ?

NITI Aayog and International Energy

Agency

(1)

f New and Renewable Energy
ent, Forest

Ministry ©
Environm

and Ministry of
and Climate Change

(2)

Alliance and

(3
} t, Forest and

7.

?El

[C]

20B0HS Birsdd 39 B505H3008

98y Odyesd (IREDA) § 020600 806

PALLATRISIN! HBRB000 :

L md ros Hpesds T80 5566),
DO,

I $e 5bdin Ly e IS %5000 50
DR Ered )2 a5 58050 35
G50 e s 380 B8 5%y HHsTO
e308 HHFO00 @O O0TIB0 AL 8 50.

ol Basrasend

af I 8D T8
D RBD o85O

J358 (MNRE) edd

II1.

805 DT HITROG.
DS BRI £S5 oSOS 26
DDSERBOD 7
(1) IS
(2) IISndaso I Sr|edad
(3) III Sr(ehadd -
(4) 1,11 0805w III

8 Barsand) oBHAS A Flole touvy
2021 DFOE 800 FES J Vo T
@Drdodohatod ?
Ha edirh Hoc» RO

03 A285S 5
IEEEAR) X
F  HOGN  IIEIOE  ROSS
HoBss TH DO JoYSS00
WO HOCR IBIS ;5:&;5;_3&;

(1)

(2)

SO e3eh ¢ AR
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79. Consider the following statements with |79. fersviaralerile mﬂﬂi;lii}ﬁ 1
reference to the enrichment of Uranium : Fob (PESOIN BAe es:‘?\f& DFED

[ GnBDaho D0H)0 1
afes o osT U-238 (b
HIFED) TER) VOWETIY HFORN0H,
soinore-fiG  owBORo DR o]

L Uranium  enrichment  refers  to
increasing the percentage of U-238 (the
fissile isotope) through the process of

isotope separation. IL.
II. Weapons-grade Uranium has to be DFS'DS  fibaom 20 TS0 0%
enriched to a maximum of 20 percent of By aomd.
the fissile isotope. - 258 DS w0 &S )
Which of the statements given above is/are HBSEIHD 259
correct ? 1 IS
(1) Ionly @2 10 :1:"[_&33
(2) IIonly (3) 10605 II Do
(3) BothIandII (4) IscoIlsco

{(4) Neither I nor Il -
80, &26d Jozrdofl Tsyedi Jo2odod,

80. With reference to Digital Embossing 808 VE oS HONBoN0S
Technology,  comsider  the  following I 2O 6archare), |[Fssmen SHHom
- statements : sendy SUFread JIde Taha
I. It is a printing technology that does not 1Dot3oh sy erzd,
use chemicals, solvents and also emits L ad  Syad&ho eS8 50
Hutants,
no pollutan 1__%3:::;@ AFLRO  ErSrodoardE

II. It can be used to produce braille maps
for the visually challenged.

III. It was introduced in India recently by
the National Atlas & Thematic Mapping
Organisation (NATMQ) functioning as

eraadirAodisd).
L. 2ad Poy Hocin Bspyesd Dario

O3 E) ESADZIOE S ORI aDOm
JDATRS)  FHSS @D oy

the Attached Office of the Department of SIS Srsdok BETHAS (NATMO)
Science & Technology. - i~ {ey 2edSe 2SS i0s
POSERATAE e YoTn Y
Which of the statements given above is/are =35 AR DSz
2 otderds T
S NBSBIIBID ?
(1) Ionly (1) I&redadh
(2) Iand II only (2) 1O I Soviebzhy
(3) I and III only (3)  II Ok 11T S3e83hH

(4) - 1,11 and III (4) I, 11 008w III
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al.

with reference to [SRO's upcoming mission

consider the  following

sghukrayaan-I7,

statements

I. Shukrayaan is India’s first miggion to
Saturn to study the planet’s surface and
atmosphere.

1. The satellite is planned to be launched
onboard the GSLV Mk 11 rocket.

which of the statements given above is/are

correct 7

(1) Tonly

2y Il only

(3) BothIandII

(41  None of the above

with reference to RFID Technology, consider

the following statements :

. Passive RFID tags are powered by an
internal circuit and utilize it to send
response to the reader. '

[I. Semi-passive RFID tags comprise an

internal circuit with power source but

rely on radio waves received from the
reader to transmit the response.

Active RFID tags acquire their power

from the readers’ incoming radio waves.

I11.

RFID Technology can scan a tag as long

as it is within frequency range and it

does not have any line-of-sight
limitations.

Which of the statements given above are

correct ? |

(1) I, 1I and III only
(2) I, 1IIand IV only
(3)  II and IV only

'4) Il and IV only

{33)

B1.

(8]
ISRD &Bnd) of5'alh 255 “hHisdirS-1 &
00 HO0), i
HOAOODOE |
I. #NSoirsd 40 (o Gnd, aobdano
00y srEradeare)) 29O
Sohordd 4D AaRE  ardeatido
S8y acHeEd e,

L A R g
Lﬂ-.i.-..-"i.!r Ll T

1Bod

1. & eI, GSLV Mk I o2
EelersupleInielavich oIS Senar) G,

2069 ETARTY) D50 e D6
BBSOIHPID 7

(1) 1amesa

(2) I S7|eed

(3) InBaiw Il Cocar

(4) DH 5N

RFID ®syods Sonodod, $08 wes
2odSers HbKSotod

I. o RFID ertfen oo0dQé
HEFS  oogor 332 SrodHEron
508G Ba6%H 18108
A0SEAE ) GHTIFHOTSI0LT 0.

L 25995 RFID érgfien D58 FEIS

@03 DBy §ON GoLron SR

DBHY0B/D (PFGO TS 88

308 ©othiud) 0Ty &doTv

O GEr .

$oSrBe RFID érgfien Srose® S

ok BTy sdore od & ¥50

DFOCNTTON.

RFID ®sod (2850 2068

@310 8% ershid S Dol

H0c5n T8 Br-w-E HBdhen

Sad.

235 A0S VEDOSOT D HJAJ ?

III.

(1) 1, I So8c8 I &r(edsh
(2) 1, I 85w IV e a3
3 1108050 IV Sred
(4) I SoBodw IV S
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83. Consider the following statements : 83.
I Dark Reserve is a public or private land

with  a  distinguished  nocturnal
environment and starry nights that has
been developed responsibly to prevent
light pollution.
II.  World's 18t International Dark Sky
Reserve is Mont-Megantic, located in
Russia.
111, The International Dark-Sky Association
(IDSA) is a EU-based non-profit

organisation that designates sites as
international dark sky places.

IV. The Department of Science &
Technology (DST) has announced the
setting up of India’s 1% Dark-Sky
Reserve in Himachal Pradesh.

Which of the statements given above are

correct 7 . :

(1) I, II and III only

(2) I, III and IV only

(3) II, IIT and IV only

(4) None of the above

84. Consider the following statements with
reference to Sampurnanand Telescope :

I It is located at Aryabhatta Research
Institute of Observational Sciences

(ARIES), Ladakh.
II. It has completed 50 years of operations.

[II. It has been extensively used for optical
observations of comets, star forming

regions and star clusters.
Which of the statements given above are
correct ?
(1) TIandlII only
(2) II and III only
(3) IandIII only

(4)  All of the above

[©]

806 [HEEIOD HOHe3000

wb; 0ubs IO 5083 STENArIN)

NEBOETNS EAATEL OV Tol ey

PETANRIA =526 DTN TIBaFe

FErSSE0 SO0 SE(EO Tl

£ONS [HEhed s B | 20a3eD Z50a.

II. L:Jéuﬁoc?m 12 @080 5},

8265 BXgS ) Broe3-Hmoess.

L. mo&Binsd by Dk PN
(IDSA) @36 EU-e3570¢ e s B
3509, 20 PEOD 90T eaH 8
205, DR 280000,

. &>fDosS @D Do) oW
Bsyed (DST) rSrsd (DS
2SS STi0 TnEy 15 &by i 085S
HOPHEN TRS)EY (5530208,

28 BDIS VEDoLFOS DD HBID ?

(1) I II 8050 T &S| ebadd

(2) I, I H8akn IV Sr(ehah

(3) II, IIT o085 IV oS3 ¢hadd

(4) © I 5D

DOFTH0E BOF 25 JooH0D 80b

PSLIATNISINVIPS Tola oA To T ol B

L 20 oddS edsh) 83b) ad

QesS 6D 0BRSS DI
(ARIES)SS %08,

CIL RO 50 0SS TP S sEeraredd 0

T208.

. 20 &%), LEey 63
roEren HOA S| DTt
BfS HBdode THo dHysorr
Ga0rfiotadod.

20 A0S VEDoS oS D 389D ?
(1) . 108050 II Sriebah

(2) 11 H8asw III Sressd

(3) 10005 I Sr(ehsdh

4) 3D
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Consider the following statemenis with g, &0 arodis, &
: erofhy Sonodod) (Bod |Hisdead

reference to Dirty Bomb : N
. . . , 5 Ta gl TS THTSToc S
I [t iz a bomb that contnins radioactive e e S
L &t owBAcho H008 BARTEOE

material, such as uranium, which 18 e ai
s {,;. T\.}J_ ﬁgjﬂ I’hrﬁf}.d. AT ﬁfﬁ I:F';:l

zcattered through the ar when  its Joporont % b e
conventional explosive detonates. S Eﬂj‘;;;ﬁ}f: ;’i ﬁﬁfﬂa'&*;&;;ﬂﬂ
et Lad v b Lol L0 |
11. It  creates city-flattening  atomic L 28 StorDy, SHeod =2 ;::_m T
explosion and less toxic waste. 238050 eﬁﬂu 15 Dhiybds :},'é. e
111.  Manufacturing dirty bombs is costlier ot &%@Qf’:}l ’
than nuclear weapons. [11. @ {CRNGTe d0fy Sndd  2rone
Which of the statements given above are S5 ) DB,
incorrect ? 285 DI HSDHoSOS DD ABSD SN ?
(1) IandII only (1) ISoBciw II S ed a0
(2) 1Iand Il only @) 11 805 I Sriehad

(3) Is06ai» Il 57|53

(3) Iand Il only
4) o SN

(4) None of the above
86. “firiSdy DowodHow 8o 1DIOSOD

reference to “Gagan}rhan“ : ﬁﬁﬁEﬁDiﬁDfﬁ s
I ffScire @30 FEBOD TS

& Gaganyaan is an Indian crewed orbital
spacecraft intended to be the formative oS 0E AR S5 500 3308y
QAo eTed S ewosdE SE

spacecraft of the Indian Human
&OF0DDED rSRCH  2d)oBS

Consider the following statements with

Spaceflight Programme.
I ISRO announced Vyommitra, & Male S 85§ @S0 TS,
Robot who will accompany other I ASS asdd 5y 5.;531’?‘:3.139_}6’ TPED
3y Sse oF Hif TTESD asF

astronauts in the mission.
[[I. The crewed vehicle 18 planned to be
launched on ISRO's GSLV Mk II. .

1DE30000.
L D208 &rds FIaR) ISRO
Bk, GSLV Mk IS HTrAodaS

arch and Development
support for critical human-cﬂntﬁﬁ v QJ-IEJ..' R0 @0 F{ éﬂ&?}aﬁ
systems and technologies in  this S8OZBAS (DRDO) & Kliq.héé* SHERAIN
mission. gé;agzﬁ:ji@;f:? i
Which of the statements gVe" ahove arc s Eajé "@eﬁﬁmeﬂt}é‘ L‘jf;’?;;;);) :
correct ? D T80k 1T S
(1) 1 andIIonly @ 10050 I SP@
(9) I and Il only @ 1108050 IV Srighad
[ 0805 IV Sr(eah

(3) IlandIV ﬂn1$ (4)
(4) TandIV only
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87,

Qﬂnsider the following statements with
reference to “Small satellite Iaiinch vehicle™
designed by ISRO :

I It can place a 500 kg payload at a height
of 500 km in the Low Earth Orbit (LEO).

II. 1t has two solid motor stages with a lift
off mass of 100 tonnes,

IIT. Tt is shorter in length than the PSLV
and GSLV,

IV.  Unlike the PSLV and GSLV, it can be

assembled  both  vertically
horizontally.

Which of the statements given above are
correct 7

(1} I, IT and III only

(2) L III and IV only

(3) I LI and IV only

(4)  All of the above

and

Consider the following statements with

reference to “International Space Station” :

I It is a multinational collaborative
project between five participating space

agencies i.e.,, NASA (USA), Roscosmos|

(Russia), ESA (Europe), JAXA (Japan)
and ISRO (India).

I[I. It is the only active modular space
station (habitable artificial satellite) in
the Low Earth Orbit (LEO),

111. It has been functional since 1998.
IV. The ownership and use of the space

station are established by
intergovernmental treaties and
agreements.

Which of the statemenis given above are
correct 7

(1) L II and III only

(2) L III and IV only

(3) II,1II and IV only

(4) Al of the above

(36 )

87.

(0]

A SrerodHodS “Dad), &‘J}Lﬁ;‘::!' (T
IESo”  HO0DS 806 1D%LIHX
H8Redohod ;

[ ad & 25 @85 (LEO)S 500 8.3
Qe0eS 500 85 HSBD Godhed,

1. 28 100 &&)e O D Srhd Bom
0 Brerdd e O &ob.

11128 PSLV 5HH08c5% GSLV 508 ¢
550} T SO0 H.

IV.PSLV 8050 ° GSLV &8  s¥oo,
AAD  Dewym  Héan  edor
DLEBOTISTY.

DI RDYN WEDoHed’ D HBSD ?

(1) 1,1 00a%w III Sredsh

(2) 1,1 005 IV Sredsh

(3) II, IIX 00050 IV Sr|edadh

(4) DI

“@OSTAOH ©0B0E FoBo” HFSIS

808 VEDoSeD HBKBoBOA -

L 20 28 gridrss; wosss d2dye

- mm-@‘aﬁécﬁa Jrsd (@,
@, NASA (USA), Roscosmos (Sars),
ESA (00r8%), JAXA (22S) 005D
ISRO (2r3655330).

L S8 e8)8 wEOS =6 O3
BoSrde ardosod 2D DAS QT

S B0,

I, 28 1998 Hod HA TFod.

IV. wosds Solo @) Airasiradso
DHOAD  GDAHO  ®OoSE (Hves 5
2,2)00e0 DB oo o o
Y DOV oW,

2 2DYS oS’ DY $B8D 2

(1) 1, 1 0asn 111 Sredh

(2) 1, 111 H8aw IV SmeshH

(3) 11, 1 <oBas» IV Sriebsh
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8. Wwhich of the following Schemes/Programmes

are launched with the objective of reversing

India’s brain drain to brain gain ?

1. VAJRA Scheme

1I. Ramanujan Fellowship Programme
III. INSPIRE Scheme

ASEAN - India
Fellowship Scheme

Iv. Research  Training

Select the correct answer from below :

(1) II and III only

(2) I, II and 111 only

(3) IandIlonly

(4) L II, IIT and IV

Indian Council for Medical Research (ICMR)
developed the strategic plan and Vision 2030
document based on the following :

I. Strengthen health research capacity in
the country

II. Leverage traditional medicine

III. Well aligned with the National Health

Policy NHP-2017
Select the correct answer from below :
(1) II and III only
(2) 1IandIII only
(3) I,IIandIIl

(4) None of the above

{ 37 )

B89,

90.

@]

rtaido G3ng) |1Bond |1IBonad 1Bomns
Aonar 78y oiiod 2068 88 O
Apsren/stagtaren ErdododaFon ?

I 23|23 D80

. Orardnzd 2 NS 1Drre
II1.
IV.

2S5 3
ASEAN - @obasr 028,
2SN By
&S D0S LTS BSTrTTR), FotoFod

B0l

(1) I8k I Sressdh

(2) I, 1100050 III Sresh

(3) 100050 II Sresah

(4) I, 1II, III o8 abn IV

ROAHS TRYS H6 FASS 685 (ICMR)
So& &8 oo sl 1Dl

SO DS 2030 HERV) ©DIHO
Thod

I oS 8y J850S DTy
25 Do Tahso

I 5858 Jroporad TAHo

. 2radoh By oS0 NHP-20178F
SE T HBdo FahaaBod

B0 0B BB JTTRA), JoRTod

(1) II So8ain I S

(2)  100cio I aFedsd

(3) I, 11 Sdakw IIT

(4) e 50
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92,

Part B (ii)

Current Events of Regional, National And

International Importance

‘-’#'_hich of the following statements is correct
with reference to the Society for Worldwide
Interbank Telecommunication
(SWIFT) ?

I. SWIFT is a global member-owned
cooperative that is headquartered in

Financial

Switzerland.
II. SWIFT was founded in 1991.
III. SWIFT is a payment network.
IV. SWIFT has the authority to impose

sanctions on the banks.

Which of the statements given above are
correct ?

(1) I II and III only

(2) II, III and IV only
(3) I, III and IV only
(4)  None of the above

Consider the following statements with
reference to China's Chang’e 5 lunar probe :

I; It is named after the Chinese Moon
goddess. :

II. It is China's first attempt at a
sample-return mission.

It will be the first probe to bring back
material from the Moon, since NASA’s
Luna 24 mission.

III.

Which of the statements given above are
correct ?

(1) Iand Il only
(2)  1I and III only
(3)  Tand III only
(4} L 1II and 111

(38

[o]

0 B (i)

£8065 w305 ) 8D 8IS , FHSS 805

91.

20T ASD Q0T TR )

288 56 6536 wotrber;os prYcHd
BOESTDTAS (SWIFT)E So0H00) Sod
WEDoBEDS’ B HTSE ?

I SWIFT o380 i0T0hS (Hod
SorOoird)) $0A &d) Aad owsd

AIF2ATS0S R DTS DO,

II.  SWIFT 199165 Yraodadod.

III. SWIFT @38 3905y 3¢5:56).

IV. erjoduo @oien H0T @550
SWIFTE &006.

28 208 BEDoS S DD HBSD ?
(1) L I S0a0 1T Srebsd

(2) I, 1T 0835 IV S5 3h

(3) I, III Hdakm IV &Sv¢bad

(4) DD 5

U Q&) Change 5 erard (§5%
Q02D0H0D 808 1HELXO& HOKBoSoS -
L A8 BN HroffED Hih .

I 70&-808) WASS' T TS
F0E3 HADEY 0 ad.

II. NASA Gho&) &0 24 AS Sovgeh,
WO 0@ JoTR) &8h
SHST ) Tee3 (855 2.

2 208 YEDoSos Y 3B 2

(1) 108050 II Srebady

(2) 11 5805 1T Sov{ebsdh

(3) 180w I SrebsDd

(4) I, 11 8w III
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g, Consider the following statements with
- roferemce to Conference of Parties (COP27) :

cOP27 was held in Sharm el-Sheikh,
Egypt.

[l COP27 reiterated the goal set by the
Paris Agreement at COP21 which was to
keep global warming from rising more
than 1-5 degrees Celsius from the 2000s.

1.

[II. The previous Conference of Parties
(COP26) was held in Glasgow, Scotland.
V. COP27 reached agreement to provide

qQoss and damage” funding for
vulnerable countries hit hard by climate
disasters. '

Which of the statements given above are

correct ?

(1) L II and IIT only

(9) I, III and IV only

(3) II, III and IV only

(4) None of the above

Consider the following statements with

reference to Mangrove Alliance for Climate

(MAC) :

I  The launch of Mangrove Alliance for
Climate (MAC) is spearheaded by
United Arab Emirates in partnership

with Indonesia.
United  States,

[I. Australia, Japan, |
Canada, Sri Lanka and India are
members of MAC. :

111, It was launched at the Conference ©
Parties (COP2T7) summit. . h

Iv. - Itis an int.erguvemmental alliance wit
no binding targets. | .

Which of the statements given above art

correct ?

(1) L1 and 111 only

oy I,HI and IV only

3y 1L 111 and IV only

(4) None of the above

93.

94.

D

[ B r r=

$0)80) eh rdes or2nd Honodod
% =

808 DS Z05e0%s HBRB0505 |

L COPYT 205D A8l 26-0ES

20A0D.
. COP27, COP21 56 rdn wn)odo
o0 252052686 OFIV)

HSGTonod, ab Aad adiof
200023 508 15 Gifie 2O H00H 5o
DBy DOHHOT GOLICO.

>be  Sudne Ssrddfo (COP26)

670G RS 200,

COP2T a=dbem DHdee sdmorr

Boydd) OrodH “Sno Hddw

0”0 20B0DFTVS

2530850 S 500,

28 208 REDoSOS D IBID?

1) I I 805w I S

@ T, I e IV Srdad

@) 11, I 8050 IV Sredad

(4) D T

SFol’S woahs) 25 DS (MACS

HoROHON §od RS DoSo

588305085 ¢

[ 208300 oridriios cngBb
w55 ANBS) THeS 05 Srolfie
o) D6 T (MAC) |r800.

. &S, 2, dwgwd S,
330, 8008 DO FroSTIo MACS
e,

(11 @6 $9)88) 6D Qo (COP2T) HAES

C S @rdododadod.

26 DGO OFTIL B ®odd Lﬁeﬁoé s
S edel.

200 208 YEDoS oS A JTIY 7

1, 11 000 1T S esh

2 1, 1 a08ci IV Sriedsh

@ 1L 1T 8w IV S

(4) NI 5

I1L.

V.
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95.

Consider the following

reference to G20 summit :

1. The two-day G20 summit was held in
Bali, Indonesia in 2022,

II.  “Recover Together, Recover Stronger” is
the theme for India’s G20 presidency.

III.  “One Earth, One Family, One Future” is
the theme for Indonesia’s G20
presidency.

IV. “Data for Development” will be the
integral part of overall theme of India’s
G20 presidency.

Which of the statements given above are
correct 7

(1) IandIlonly
(2) 1and III only
(3) TIandIVonly
(4) II and III only

statements with

Kiev city is located on which of the following
rivers ?

(1} Don

(2) Danube

(3) Dniester

{4) Dnieper

Consider the following statements with

reference to GloLitter Partnerships Project :

L. It is an initiative of the United Nations
Environment Programme (UNEP).

II. It aims to reduce marine litter,
especially plastic litter from all the
sources.

Which of the statements given above isfare
correct 7

(1) TIonly

{2) II only

(3) BothIandII

(4)  Neither I nor II

{40)

5.

(o]

G20 SOl HSrETIE HooL0D |8oh

HEOSOD HONHEBoSOs :

[ Doy 8zre G20 DO Dr3do
202265 RO TNATS'Q 257 28R0a.

11, 2r&s8do gy G20 @GS DHDE
“6E0 FenFod, 20
DREHBOH0B0E” @TO BBJHR0.

[11, “2.& 2550, 28 5080020, 2.8 Pl idy”
O[A ROSTAAT G20 @ddis DSHDE
Ho220800S H.

V. “Ger $B BI0DT0L” T rssT
G20 (2DBJ) TwE [wéo HS
0T O™ SO0,

5 A0S VG DoSerd DD HBSD ?

(1) 108w II Somiedad
(2)  Is080%0 I Sriehad
(3) IX08a5» IV Sr|essh
(4) I S0Oasn I Sriedsd

85 Siiso 808 TBE D A @B ?
(1) oo

7123 e 0z3
3 BIO5
4)  AyHB

ﬁ‘ﬂe.:i FirssSrio (FREH Ho2o0d0d
1508 RS0l e HOKSBoS0A

L 20 dud®bd TAS) 210530
BT (UNEP) S30E), 5855,

I 20 JAED TS, QPO )
DR DOG TS TSN Sfocsdo

OF JOrF EPHROS,
a3 20 PSDoSost  Ho
HBSOIRNDAID 7
(1) ISrebad
(2) IISredd

(3) I&56cin 1l Sodr
(4) Is¢hlls
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;. k out the corr
" pi | ect matches from the
following statements re i
Eﬂtﬁ‘rﬁﬂll_‘l’“ﬂlde'i projects in Andhra Pr:; rd]:ng
esh :

Andhra Pr
{ adesh Integrated Irrigation

and. Agriculture Transformation Project
iz aided by the World Bank.

Andhra Pradesh Community Managed
Natural Farming (APCNF) is aided by

I1.

Japan International Co-operation
Agency (JICA).
11. Andhra Pradesh  Irrigation and

Livelihood Improvement Project Phase-3
is aided by KfW - German Bank.

(1) Only 1 is correct

(2) Only 11 and III are correct

(3) Onlyl and 111 are correct

(4) Only 111 is correct

Which of the following statements are correct

regarding status  of Andhra Pradesh

Agquaculture ? :

I. YSK Matsyakara Bharosa’ relief+ ;is
provided to marine fishermen families
during fishing ban period.

1. Andhra Pradesh Fisheries Um*:rer_sit:{ is to
be established in East Godavarl District.

11I. The Diesel Qil Subsidy for fishermen boats
is associated with exemption of sales tax
on HSD oil

IV. The Government has Enha.m::ed the
financial benefit to0 deceased ﬁ?{:ﬂml&tﬂ
(while fishing) family from 8
# 10 lakhs.

(1) Only], II and I aré correct

(2) Onlyl and Il are correct

(3) Only I11 and IV 27€ correct

(4) OnlyI, I and IV ar€ correct

(41)
98, esolOHTE S0 203
2

I1.

I1I.

(1)
(2)
(3)
(4)

L

I1.

(1)
(2)
(3)

(4)

0D
8old J‘S‘gﬂé& HBSB A0 ?

1L

111 S| aD DVIO
sy $0)6 P85 H020600

Sae B ARR peod DIVB
Leb)§5°0 Boe0 02O 3.000.ab.
S06535°0 B3O’ AH3S50 EOHRNOO.

&3y Borad gers  SOINTT
HA0R GarR3683 BT TN
Foham) 5.

4363450 DEBHEN A sond
5935, HSD S0 @087y DY
SIFON0EY.

55000 2Heb SO HenoerdS
Boen O HRCHOS) (DS
@8 @Eirasa-m z5 oo Hod

7 10 © 5O 20008,

L 11 S0k I S OPSD

[ 508050 11 S DBSD

1 8050 IV SPET DTS |

I, 11T 06080 IV S ebhad ADSD
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100. Which of the following statements are correct

about

Visakhapatnam-Chennai  Industrial

Corridor Development Program (VCICDP) ?

I

I1.

I1L.

IV.

(1)
(2)
(3)
(4)

[t is partly funded by loan from Asian
Development Bank (ADB).

It is aligned with the Golden
Quadrilateral and covers more than
800 km of the State of Andhra Pradesh’s
coastline.

development

it is =a node-centric

platform comprising four nodes.
Donakonda is recognized as one of the
nodes.

Only I and 1I are correct

Only 11 and III are correct

Only I, Il and IV are correct

Only I, II1 and IV are correct

101. Which of the following statements are correct

about

Pradesh 7

1.

IT.

III.

(1)
(2)
(3)
(4)

GoAF has recently declared

Krishnapatnam Port as a Major Port.
Kakinada SEZ Port is being converted
from captive port to commercial port
through Swiss Challenge Approach.
GoAP has declared Nakkapalli Port as a
Minor Port.

Port is being developed on

Vodarevu |
QOperate and Transfer

Build, Own,
(BOOT) basis.

Only L, III and IV are correct
Only I, [Il and IV are correct
Only IT and I1I are correct
Only I1I and IV are correct

100. DT WHEIH0-L33)
Baerots 19 |
Bod e3eS HDHEO DO 7

101.
the Sea Ports in the State of Andhra

1L

II1.

V.

(1)
(2)
(3)
(4)

I

II.

ITI,

(1)
(2)
(3)
(4)

(]

s D

o oD
vOICDP) fMafiot) G

mé ridomr asrC3T" ad)sat 27509
(ADB) G0 Sy0lh DGHen
55055000
26 H58 568023
S 52003006 DO
o B B 800 8.

SO0,
o8 srenth 5B 08 Glsés, SG

B0 DS Se5m
L;’)Bi:‘&mﬁr.’io 28008,

8550 28 SBT™ fBodekod.
[ %8050 IT Sr{sad OB

11 S80S III S DB

I, I1 508080 IV L5 DD D

L TIT 398080 IV S3gad 9~

& nd S0
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250 808 HPSB o 30° FETR o
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SEHHO 2589 PSS LBBIYT
@OLGINTF (920es 50 DEE30D0d.
SHBYy D JBoYB0, Foso
TS0, Qgrodsdo o
2500 (BOOT) O
FAIOES @D  Sosred
QAPoOWONGH0o 28808,
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103

401

which of the following minorities have |
y e been

a]]-::t-tf-'d special budget cover (2021 — 99) g
- ¥

the Government of Andhra Pradesh 2

(1) Qureshi
(2
(3)
(4)

Gosangi
Borewale

Dudekula

Which of the following statements are valid
regarding the initiatives taken by the Andhra

Pradesh Gﬂﬁremment in Women Development

and Child Welfare Department ?

T Government 1n collaboration with

PRATHAM organization 1s building the
of  supervisors and

anganwadi workers.

capacitites

Government in collaboration with UK

CATAPULT organization is extending
support for funding the YSR Thalli Bidda

11

Express.
o Poshana Plus + scheme
port to pregnant.

sn all the

I11L.

(1)
(2)
(3)
(4)

|43 )
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104. Which of the following statements regarding
the investments in Andhra Pradesh at World
Economic Forum (WEF) 2022 is incorrect ?

(1)

(2)

(3)

(4)

(AMNS)
of

ArcelorMittal Nippon Steel

announced an investment
T 1,000 crores to expand its pellet plant

capacity in Visakhapatnam.

Government of Andhra P‘:Ladeah signed
an MOU with Aurcbindo Realty &
Infrastructure Private Limited
generating 6000 MW of Green Energy.

for

Government of Andhra Pradesh signed
an MOU with Greenko Group for
generating 8000 MW of Green Power.

Government of Andhra Pradesh signed
an MOU with ACE Urban Developers
for setting up a Pumps and Compressor
manufacturing unit at Mega Industrial
Park at Hopparthy, YSR Kadapa
district.

105. In the recent times which of the following bird

had

mass mortality at Telineelapuram

Important Bird Area (IBA) of Srikakulam
district 7

(1)
(2)
(3)
(4)

Red-cheeked Cordon Bleu

Pelecanus Philippensis -
Rainhow Lorikeet

Mycteria Leucocephala

104, 6D
@o|SHTES

105.

(O]

5S> (WEF) 202285

SEarans

808 3" ) (D565 ) ?

(1)

(2)

(3)

(4)

@B yOBESE DD S (AMNS)
Spmne o DB ot NGO
DdHdoTotwsy T 1,000 &) DEPDED
19E830D08.

6000 Drod BS I aS8
SchaDd wEDosS B0 O
2SEFIDEE 1RIS OTES
so|SOBS  (PHEhesso MOU HoedEo
}ﬁﬁmﬂ.

8000 orrartd AS D586 @)@ oo
ASES @o|dHBF (Do MOU
HodEo Tood.

B3.00.65, 55 Ber £518 5O Dore
Qo ydbd b SO
SH00  Eo»db Saird  clardeS
Do FHo wo|PHBT (D200
ACE ©8)S B30d8)& MOU Hodso
08,

DONEN)

2850 oo’ IsHo 2, OHrHS0

SIS D& 1Troso (IBAS' 8od ¢3S
2 HE FTIE DS BDSFBOS ?

(1)
(2)
(3)
(4)

S 2wt 5705 9
DBESD HODINIH
BowSS* S8
Do ersSder



1
Which of the following statements are correct
with regard to Swachh Survekshan Awards
2022 ?

1

107.

11

L.

V.

V.

(1)
(2)
(3)
(4)

Consider the following statements !

L.

IL.

HI.

Which
incorrect ?

(1)
2)
(3)
(4)

101

{ 45 )

Visakhapatnam was awarded “Top
Impact Creator’ under Million Plus City
category.

Tirupati Municipal Corporation won the |
first rank in ‘Safaimitra Suraksha |
Seher’.

Salur was awarded for innovation and
best practices under South zone for
towns with 50,000 to one lakh
population.

Pulivendula was awarded for innovation
and best practices under South zone for
towns with 25,000 to 50,000 population.

Vijayawada Municipal Corporation was
awarded as cleanest capital.

II,[Vand V
I,Iland V

I and II only
I, IT and III

Andhra Pradesh Official Language
(Amendment) Act, 2022 Bill was
introduced in the Andhra Pradesh
Legislative Assembly on 23rd March,
2022,

Urdu language, as the second official
language in all the districts of Andhra
Pradesh came into force on 25 April,
2022.

Urdu language was alrcady the second
official language in Nellore, Anantapur,
Guntur, Chittoor and Kadapa of United
Andhra Pradesh.

of the above is/are

statements

I only
II only
111 only
I and 11

107.

1L

I1L.
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108. Match the following List 1 with List 11 with
regard to Arjuna Awards 2022 :

c.
d.

e,

(1)
(2)
(3)
(4)

109.

Name of Diseipline
Sportsperson
Sushila Devi i Shooting

Omprakash ii.  Weightlifting
Mitharwal
Vikas Thakur iii. Para Badminton

Tarun Dhillon  iv. Deaf Badminton

Jerlin AnikaJ. v. dJudo

a—iii, b—iv, c=i, d=ii, e=v
a—iii, b=v, c=ii, d-i, e—iv
a-v, b—i, e—ii, d-iii, e=iv

a-v, b—ii, c=iii, d=i, e-iv

Identify the correct statements about the

Prime Minister's Development Initiative for
North East Region (PM-DevINE).

L

II.

IIL

(1)
(2)
(3)
(4)

It was announced in the Union Budget
2022 - 23 to address developmental gaps
in the North Eastern Region (NER).

PM-DevINE to the
quantum of resources available for the
development of the North Eastern
Region and will not be a substitute for
existing Central and State Schemes.

ig an addition

It enables livelihood activities for the
youth and women of North Eastern

Region.

PM-DevINE will fund
convergently, in the spirit of PM Gati

Shakti.
I, II and III
I, III and IV

infrastructure

IL, III and IV
All of the above

(46 )
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4 St Bers v =03 271080
e. BOSelSJ. V- 276
(1) a-iii, b-iv, c-i, d-ii, &=V
(2) a-iii-b-v, e—ii, d—i, e=iv
(38) a-v, b, e-il, d—iii, e—1v

(4)

a—v, b—ii, c-iii, d-i, e=iv
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IIL.

(1)
(2)
(3)
(4)
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111.

E;‘]iﬂ

consider the following statements with
eference to e-RUPI : | l

[ It is a seamless one-time payment

mechanism.

#

. It is powered by NPCI (National
Payments Corporation of India).

1. It was developed with the support of
DFS (Department of Financial Services)
and NHA (National Health Authority).

v. Itwas launched in the year 2020.

Wwhich of the statements given above are
correct 7

(1) I, 11l and IV only
(2) 1,11 and III only
(3y 1L II1 and IV only
(41 All of the above

Consider the
respect to the “Satkosia Tiger Reserve” :

following statements with

. Itis a Tiger Reserve located in Odisha.

1. It comprises two adjoining Sanctuaries
of Central Odisha, named the Satkosia
Gorge Sanctuary and the Debrigarh

Sanctuary.

1. It is located in the Eastern Ghats where
Mahanadi river flows through a deep

gorge.
Which of the statements given above are
correct ?
(1) I and II only
(2} 11 and 111 only
(3) T and III only

(4) 1,11 and 111

{47 )
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s RoBai) oot asrOedO.
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@S Sohadod.

v, = 2020 $058008"
L;*ﬁoé)m‘.’)mc?m&,

2 /DD HS oSS D HBAD ?
(1) I, I Sodcso IV S| ehad

@) L 1L 6050 I Sr(ebad

(3) I, III 850 IV Sr(ead

4) DSV

111, “5&hH a5 Bib 8285" § HowodHod 180H

|DEerderes HOMeSosod
I 20207 &) b o=b;.

I 2 oS 875D Dot 1D%S
&5y HHDaAr T8 wcrdemso
S8ain BDd wiairdeso R o d.
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leedeT P RO,

28 200 VEDoS s’ D HBID 2
(D IS8 I1 &g |
(2) I 08c850 I Sy

(3) 10050 T SreHh

(4) 1,11 508050 111
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Onsider he  follec: (a4g) )
reference ol ﬂ?ﬁwmg Statemenye with 112, 485545 £ AT POV 8oa,
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the TUCN Req 154, = e L a8 IUCN 86 O  (Hes
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2) 11 only D 1SS
(3)  Both Land 11 2) 11 ST
4} Neither I nor I1 (3) 10005 I Doy
4) 18 sy
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orence o the Prevention  of oney| 50230809 1806 BEmses, DBKEBOS0A -
~aundering Act, 2002 L “T6y od” mp FA0T &N eSS
1. Tl.m Act empowers authorities like the DAHEE 3056 S0es WA HeE
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Tribunal and Special Court to conduct IV. ﬁ):ﬁlﬂ‘mﬁﬂc}ﬁ Joey DTFSS
the trial of the offences of money QESTOD e O Y¢S 832080565
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116. Consider the following statements about

117%.

“National War Memorial” -
I. It was inaugurated in 2021,

II.  The eternal flame of Amar Jawan Jyoti
underneath India Gate was put out and
merged with another eternal flame at
the National War Memorial.

I[II. Tt was built to commemorate all the
soldiers who have laid down their lives
in the various battles, wars, operations
and conflicts of Independent India.

V. The architecture of the memorial is

based on four concentric circles.

Which of the statements given above are
correct 7

(1) I, II and III only
(2) I, III and IV only
(3) II, III and IV only
(4)  All of the above

Recently, the Prime Minister of India led
tributes to freedom fighter Velu Nachiyar on
her 2920d hirth anniversary.

With reference to Rani Velu Nachiyar, which
of the following statements is/are correct s

I She was the first queen to wage a war
against the East India Company.

1. She formed an alliance with Tipu Sultan
againit the British in 1780.

Select the correct answer using the code given
below :

(1)
(2)
(3)

(4)

I only

II only

Both I and II
Neither I nor II

{ 5O )
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118. [2U2 is a new partnership between

119.

120.

Indonesia, India, United Kingdom and
United States of America.

Israel, India, United Arab Emirates and
United States of America.

{srael, India, United Kingdom and
United States of America.

Indonesia, India, United Arab Emirates
and United States of America.

(1

(2)

(3)

(4)

Identify the names of Ramon Magsaysay 2022
Awardees from the following :

1.  Sotheara Chham

1. Bernadette J. Madrid
IIL.
IV.
V.
(1)
(2)
3)
(4)

Tan Soo Heong
Gary Bencheghib
Tadashi Hattor
LI, IVand V
I, IVand V
I,11, Il and IV
All of the above

Consider the following statements with
reference to Agriculture Orientation Index
(AQI) :

1. It is published by The International
Food Policy Research Institute.

1I. It measures the country’s progress
towards SDG-2 (End hunger, achieve
food security and improved nutrition).
[iL. It is calculated as the percentage of the
Government's expenditure on
agriculture, divided by the shaye of
agriculture in the GDP. '
Which of the statements given above are

correct ?

(1) IandIlonly
(2) Il and III only
(3) Iand Il only
(4)  All of the above

(61])
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